
MATHS

BOOKS - CHETANA MATHS (MARATHI

ENGLISH)

Mensuration

Example

1. Find the total surface area of a cylinder if

the radius of its base is 5 cm and height is 40

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_LVqUasdGGVuF


cm.

Watch Video Solution

2. In the adjoining figure a cyindrical wrapper

of flat tablets is shown. The radius a tablet is 7

mm and its thickness is 5 mm. How many such

tablets are wrapped in the wrapper?

Watch Video Solution

https://dl.doubtnut.com/l/_LVqUasdGGVuF
https://dl.doubtnut.com/l/_UZuvEmVTJm0g


3. Some plastic balls of radius 1 cm were

melted and cast into a tube. The thickness,

length and outer radius of the tube were 2 cm,

90 cm, and 30 cm respectively. How many balls

were melted to make the tube?

Watch Video Solution

4. A metal parallelopiped of measure 16 cm 

11 cm  10 cm was melted to make coins.

How many coins were made if the thickness

×

×

https://dl.doubtnut.com/l/_ddcwhkw0LnNb
https://dl.doubtnut.com/l/_46atoVzjqkrm


and diameter of each coin was 2 mm and 2 cm

respectively?

Watch Video Solution

5. The diameter and length of a roller is 120 cm

and 84 cm respectively. To level the ground,

200 rotations of the roller are required. Find

the expenditure to level the ground at the

rate of ~ 10 per sq. m.

Watch Video Solution

https://dl.doubtnut.com/l/_46atoVzjqkrm
https://dl.doubtnut.com/l/_cI2t46M3gJ3W
https://dl.doubtnut.com/l/_qCvUHxXizaxl


6. Find the volume of cone if the radius of its

base is 1.5 cm and its perpendicular height is 5

cm.

Watch Video Solution

7. The dimensions of a cuboid are 44 cm, 21

cm, 12 cm. It is melted and a cone of heigth 24

cm is made. Find the radius of its base.

Watch Video Solution

https://dl.doubtnut.com/l/_qCvUHxXizaxl
https://dl.doubtnut.com/l/_MUczLhYXFCFp
https://dl.doubtnut.com/l/_sSEWYl3vn5Az


8. Observe the measures of pots in below

figure. How many jugs of water can the

cyindrical pot hold?

https://dl.doubtnut.com/l/_sSEWYl3vn5Az


Watch Video Solution

9. A cylinder and a cone have equal bases. The

height of the cylinder is 3 cm and the area of

its base is . The cone is placed upon

the cylinder. Volume of the solid figure so

100cm2

https://dl.doubtnut.com/l/_sSEWYl3vn5Az
https://dl.doubtnut.com/l/_Pf5HMiRa621J


formed is . Find the total height of

figure 

Watch Video Solution

500cm3

https://dl.doubtnut.com/l/_Pf5HMiRa621J


10. A cylinder bucket of diameter 28 cm and

height 20 cm was full of sand. When the sand

in the bucket was poured on the ground, the

sand got converted into a shape of a cone. If

the height of the cone was 14 cm, what was

the base area of the cone?

Watch Video Solution

11. Find the volume of a shpere with diameter

6 cm.

https://dl.doubtnut.com/l/_D0cLp6mavkqq
https://dl.doubtnut.com/l/_oPyKY6LKZfiM


Watch Video Solution

12. Find the surface area of sphere of radius 7

cm.

Watch Video Solution

13. Find the surface area and the volume of a

beach ball shown in the figure. 

https://dl.doubtnut.com/l/_oPyKY6LKZfiM
https://dl.doubtnut.com/l/_zwINJr39nfA0
https://dl.doubtnut.com/l/_Hiifm8E34U8P


Watch Video Solution

https://dl.doubtnut.com/l/_Hiifm8E34U8P


14. In below figure, a toy made from a

hemishpere, a cylinder and a cone is shown.

Find the total area of the toy. 

https://dl.doubtnut.com/l/_r9TGu5nwFSCY


https://dl.doubtnut.com/l/_r9TGu5nwFSCY


Watch Video Solution

15. The adjoining figure shows a toy. Its lower

part is a hemisphere and the upper part is a

cone. Find the volume and the surface area of

the toy from the measures shown in the

https://dl.doubtnut.com/l/_r9TGu5nwFSCY
https://dl.doubtnut.com/l/_fT6lQVeT2RYB


figure.  


Watch Video Solution

(π = 3.14)

16. As shown in the figure, a cylindrical glass

contains water. A metal shpere of diameter 2

https://dl.doubtnut.com/l/_fT6lQVeT2RYB
https://dl.doubtnut.com/l/_qyXEjqQDGP84


cm is immersed in the water. Find the volume

of water. 

Watch Video Solution

17. The diameter and thickness of a hollow

metallic sphere are 12 cm and 0.01 m

https://dl.doubtnut.com/l/_qyXEjqQDGP84
https://dl.doubtnut.com/l/_w4jrfnjP1DjY


respectively. The density of the metal is 8.88

gm per . Find the outer surface area and

mass of the sphere.

Watch Video Solution

cm3

18. The radius of a metallic sphere is 9 cm. It

was melted to make a wire of diameter 4 mm.

Find the length of the wire.

Watch Video Solution

https://dl.doubtnut.com/l/_w4jrfnjP1DjY
https://dl.doubtnut.com/l/_XBl9fP06gEZ7


19. The radii of two circular ends of frustum

shaped bucket are 14 cm and 7 cm. Height of

the bucket is 30 cm. How many litres of water

it can hold? (1 litre = 1000 )

Watch Video Solution

cm3

20. The radii of ends of a frustum are 14 cm

and 6 cm respectively and its height is 6 cm.

Find its (i) curved surface area

Watch Video Solution

https://dl.doubtnut.com/l/_IyqIi1cuLufV
https://dl.doubtnut.com/l/_3Wg0k5CMHblQ


21. The radii of ends of a frustum are 14 cm

and 6 cm respectively and its height is 6 cm.

Find its (ii) Total surface area

Watch Video Solution

22. The radii of ends of a frustum are 14 cm

and 6 cm respectively and its height is 6 cm.

Find its (iii) Volume .

Watch Video Solution

(π = 3.14)

https://dl.doubtnut.com/l/_3Wg0k5CMHblQ
https://dl.doubtnut.com/l/_KAPXGLOp4siz
https://dl.doubtnut.com/l/_7riSmg1asrlf


23. The circumferences of circular faces of a

frustum are 132 cm and 88 cm and its height is

24 cm. Find curved surface area of frustum.

Watch Video Solution

(π = )
22

7

24. A washing tub in the shape of a frustum of

a cone has height 21 cm. The radii of the

circular top and bottom are 20 cm and 15 cm

https://dl.doubtnut.com/l/_VdatqQxPGivc
https://dl.doubtnut.com/l/_BSWHZCE3pb6T


respectively. What is the capacity of the tub?

Watch Video Solution

(π = )
22

7

25. Radius of a circle is 10 cm. Measure of an

arc of the circle . Find the area of the

sector associated with the arc. 

Watch Video Solution

54∘

(π = 3.14)

https://dl.doubtnut.com/l/_BSWHZCE3pb6T
https://dl.doubtnut.com/l/_Ic6QGAb1ojTz


26. Measure of an arc of a circle is 80 cm and

its radius is 18 cm. Find the length of the arc

Watch Video Solution

(π = 3.14)

27. Radius of a sector of a circle is 3.5 cm and

length of its arc is 2.2 cm. Find the area of the

sector.

Watch Video Solution

https://dl.doubtnut.com/l/_mXV314SoPY2M
https://dl.doubtnut.com/l/_Aq1viswvtvuP
https://dl.doubtnut.com/l/_J7YmUzs36ct9


28. Radius of a circle is 10 cm. Area of a sector

of the circle is 100 . Find the area of its

corresponding major sector. 

Watch Video Solution

cm2

(π = 3.14)

29. Area of sector of a circle of radius 15 cm is

30 . Find the length of the arc of the

sector.

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_J7YmUzs36ct9
https://dl.doubtnut.com/l/_ptWDDk3bdO6J
https://dl.doubtnut.com/l/_VHUCnwm4xSIi


30. In the adjoining figure, the radius of the

circle is 7 cm and m (arc MBN) = . Find (i)

Area of the circle 

Watch Video Solution

60∘

https://dl.doubtnut.com/l/_VHUCnwm4xSIi


31. In the adjoining figure, the radius of the

circle is 7 cm and m (arc MBN) = . Find (ii) A

(O-MBN) 

Watch Video Solution

60∘

https://dl.doubtnut.com/l/_vLN6yLKMnKGJ
https://dl.doubtnut.com/l/_wKgfHoysBdgG


32. In the adjoining figure, the radius of the

circle is 7 cm and m (arc MBN) =  Find (iii) A

(O- MCN) 

Watch Video Solution

60∘

https://dl.doubtnut.com/l/_wKgfHoysBdgG


33. In the adjoining figure, radius of circle is

3.4 cm and perimeter of sector P-ABC is 12.8

cm. Find A (P-ABC). 

Watch Video Solution

https://dl.doubtnut.com/l/_uO6w7F9Fyovd
https://dl.doubtnut.com/l/_iymA88nb42eV


34. In the adjoining figure, 'O' is centre of arcs.

 =  = , OR = 7 cm, OM =21cm.

Find the lengths of arc RXQ and arc MYN.

∠ROQ ∠MON 60∘

https://dl.doubtnut.com/l/_iymA88nb42eV


 


Watch Video Solution

(π = )
22

7

https://dl.doubtnut.com/l/_iymA88nb42eV


35. In the adjoining figure A (P-ABC) = 154 

and radius of the circle is 14 cm. Find (i)

 


Watch Video Solution

cm2

∠APC

https://dl.doubtnut.com/l/_gybO9GiTHCj8


36. In the adjoining figure A (P-ABC) = 154 

and radius of the circle is 14 cm. Find (ii) l (arc

ABC). 

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_EfuUCdd0qZcs


37. Radius of a sector of a circle is 7 cm. If

measure of arc of the sector is (1)  (2) 

(3) three right angles, find the area of the

sector in each case

Watch Video Solution

30∘ 210∘

38. The area of a minor sector of a circle is 3.85

 and the measure of its central angle is 

. Find the radius of the circle.

Watch Video Solution

cm2

36∘

https://dl.doubtnut.com/l/_u9CQHEmc68Jz
https://dl.doubtnut.com/l/_MrxxsfowmTNN


39. In the adjoining figure, PQRS is a

rectangle. PQ = 14 cm, QR = 21 cm, find the

□

https://dl.doubtnut.com/l/_MrxxsfowmTNN
https://dl.doubtnut.com/l/_8U6o9fuN0C7m


areas of the parts 

Watch Video Solution

https://dl.doubtnut.com/l/_8U6o9fuN0C7m


40.  is an equilateral triangle. LM= 14

cm. As shown in the figure, 3 sectors are drawn

with vertices as centre and radius 7 cm. Find (i)

A  


△ LMN

( △ LMN)

https://dl.doubtnut.com/l/_8U6o9fuN0C7m
https://dl.doubtnut.com/l/_SHOkSiketWWs


Watch Video Solution

41.  is an equilateral triangle. LM= 14

cm. As shown in the figure, 3 sectors are drawn

with vertices as centre and radius 7 cm. Find

△ LMN

https://dl.doubtnut.com/l/_SHOkSiketWWs
https://dl.doubtnut.com/l/_FlNWW7ouRMTX


(ii) Area of any one of the sectors. 

Watch Video Solution

https://dl.doubtnut.com/l/_FlNWW7ouRMTX


42. is an equilateral triangle. LM= 14

cm. As shown in the figure, 3 sectors are drawn

with vertices as centre and radius 7 cm. Find

(iii) Total area of all the three sectors 

△ LMN

https://dl.doubtnut.com/l/_IKtzZJD1nkwX


Watch Video Solution

43.  is an equilateral triangle. LM= 14

cm. As shown in the figure, three sectors are

drawn with vertices as centre and radius 7 cm.

△ LMN

https://dl.doubtnut.com/l/_IKtzZJD1nkwX
https://dl.doubtnut.com/l/_xJybzDWBYZXN


Find (iv) Area of the shaded region. 

Watch Video Solution

https://dl.doubtnut.com/l/_xJybzDWBYZXN


44. The area of a sector of a circle of 6 cm

radius is  sq. cm. Find the measure of the

arc and length of the arc corresponding to the

sector.

Watch Video Solution

15π

45. In the adjoining figure, square ABCD is

inscribed in the sector A-PCQ. The radius of

sector C-BXD is 20 cm. Find the area of shaded

https://dl.doubtnut.com/l/_N0loPoyR0q3u
https://dl.doubtnut.com/l/_yHkMDXbKPDLz


region. 

Watch Video Solution

46. In the adjoining figure, A is the centre of

the circle.  and AC =  cm.∠ABC = 45∘ 7√2

https://dl.doubtnut.com/l/_yHkMDXbKPDLz
https://dl.doubtnut.com/l/_oGvjey2vxIRS


Find the area of segment BXC.

 


Watch Video Solution

(π = 3.14), (√2 = 1.41)

https://dl.doubtnut.com/l/_oGvjey2vxIRS


47. In the adjoining figure, point 'O' is the

centre of the circle, m (arc PQR) = , OP = 10

cm. Find the area of the shaded portion.




Watch Video Solution

60∘

(π = 3.14, √3 = 1.73)

https://dl.doubtnut.com/l/_Z75jC6Ja6P2U


48. In the adjoining figure, if A is the centre of

the circle.  =  AP = 7.5, find the area

of segment PQR.  


Watch Video Solution

∠PAR 30∘

(π = 3.14)

https://dl.doubtnut.com/l/_Z75jC6Ja6P2U
https://dl.doubtnut.com/l/_rebtzhQ2xcuI


49. In the adjoining figure, if O is the centre of

the circle, PQ is a chord. , area

of shaded region is 114 , find the radius of

the circle 


∠POQ = 90∘

cm2

(π = 3.14)

https://dl.doubtnut.com/l/_rebtzhQ2xcuI
https://dl.doubtnut.com/l/_dXiOHulrTMUX


Watch Video Solution

50. A chord PQ of circle with radius 15 cm

subtends an angle of  with the centre of

the circle. Find the area of the minor as well as

the major segment. 

Watch Video Solution

60∘

(π = 3.14, √3 = 1.73)

51. In the adjoining figure, seg AB is a chord of

a circle with centre P. If PA = 8 cm and distance

of chord AB from the centre P is 4 cm, find the

https://dl.doubtnut.com/l/_dXiOHulrTMUX
https://dl.doubtnut.com/l/_Os5986ur5qcx
https://dl.doubtnut.com/l/_6neY1H7tB7BO


area of the shaded portion.

 


Watch Video Solution

(π = 3.14. √3 = 1.73)

https://dl.doubtnut.com/l/_6neY1H7tB7BO


52. In the adjoining figure, two circles with

centres O and P are touching internally at

point A. If BQ = 9. DE = 5, then find the radii of

the circles. 

Watch Video Solution

https://dl.doubtnut.com/l/_YkzzHAxMtEMS


53. Choose the correct alternative answer for

the following question: The ratio of

circumference and area of a circle is 2:7. Find

its circumference. (A) 
(B) 
( C) 
(D) 

A. (A) 

B. (B) 

C. ( C) 

D. (D) 

Answer:

14π
7

π
7π

14

π

14π

7

π

7π

14

π

https://dl.doubtnut.com/l/_YkzzHAxMtEMS
https://dl.doubtnut.com/l/_gqjZX5yfdKXW


Watch Video Solution

54. If measure of an arc of circle is  and

its length is 44 cm, find the circumference of

the circle. ( A) 66cm
 ( B) 44cm
 ( C) 160cm
 (D)

99cm

A. ( A) 66cm

B. ( B) 44cm

C. ( C) 160cm

D. (D) 99cm

160∘

https://dl.doubtnut.com/l/_gqjZX5yfdKXW
https://dl.doubtnut.com/l/_3rG0QmVDXYIJ


Answer:

Watch Video Solution

55. Find the perimeter of a sector of a circle if

its measure is  and radius is . a)

b)  c)  d)

A. (A) 440 

B. (B) 550 

C. ( C) 330 

D. (D) 110 

90∘ 7cm 44cm

25cm 36cm 56cm

cm2

cm2

cm2

cm2

https://dl.doubtnut.com/l/_3rG0QmVDXYIJ
https://dl.doubtnut.com/l/_EISdh3AMmqks


Answer:

Watch Video Solution

56. The curved surface area of a cylinder is 440

 and its radius is 5 cm. Find its height.

A. (A) 

B. (B) 

C. ( C) 

D. (D) 

cm2

cm
44
π

22πcm

44πcm

cm
4
π

https://dl.doubtnut.com/l/_EISdh3AMmqks
https://dl.doubtnut.com/l/_IVaQcWtv4CB2


Answer:

Watch Video Solution

57. A cone was melted and cast into a cylinder

of the same radius as that of the base of the

cone. If the height of the cylinder is 5cm, find

the height of the cone.

A. (A) 15 cm

B. (B) 10 cm

C. ( C) 18 cm

https://dl.doubtnut.com/l/_IVaQcWtv4CB2
https://dl.doubtnut.com/l/_QF4AXefsaUS9


D. (D) 5 cm

Answer:

Watch Video Solution

58. Find the volume of a cube of side 0.01 cm.

A. (A) 1 

B. (B) 0.001 

C. ( C) 0.0001 

D. (D) 0.00000

cm3

cm3

cm3

cm3

https://dl.doubtnut.com/l/_QF4AXefsaUS9
https://dl.doubtnut.com/l/_V6j88joT2MgU


Answer:

Watch Video Solution

59. Find the side of a cube of volume 1 .

A. (A) 1 cm

B. (B) 10 cm

C. ( C) 100 cm

D. (D) 1000 cm

Answer:

m3

https://dl.doubtnut.com/l/_V6j88joT2MgU
https://dl.doubtnut.com/l/_b3T76seL7q9u


Watch Video Solution

60. Vertical surface area of a cuboid is….

A. (A) 2(l b) + h

B. (B) 

C. ( C) 2(l + b) +h

D. (D) 

Answer:

Watch Video Solution

×

2(l × b) × h

2(l + b) × h

https://dl.doubtnut.com/l/_b3T76seL7q9u
https://dl.doubtnut.com/l/_1Jnnjc3HVS5k


61. Total surface area of a cube is 216 `cm^2.

Find its volume.

A. (A) 36 

B. (B) 100 

C. (C ) 216 3

D. (D) 400 

Answer:

Watch Video Solution

cm3

cm3

cm

cm3

https://dl.doubtnut.com/l/_1Jnnjc3HVS5k
https://dl.doubtnut.com/l/_AvH3CJjsDjbX
https://dl.doubtnut.com/l/_ePl9HrIbBoI9


62. The length, breadth, height of cuboid are

in the ratio 1: 1: 2, its total surface area is 1000

. Therefore, its length is….(A) 10 cm
 (B) 15

cm
(D) 20 cm
(D) 12 cm

A. (A) 10 cm

B. (B) 15 cm

C. (D) 20 cm

D. (D) 12 cm

Answer:

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_ePl9HrIbBoI9


63. A tent is made up of cylinder and mounted

by a conical top. In order to calculate its total

surface area, find sum of their....(A) Volumes
(B)

Total surface areas
 ( C) Curved surface areas

(D) Base areas

A. (A) Volumes

B. (B) Total surface area

C. ( C) Curved surface area

D. (D) Base areas

https://dl.doubtnut.com/l/_ePl9HrIbBoI9
https://dl.doubtnut.com/l/_hYFr8KcL3LM2


Answer:

Watch Video Solution

64. If diameter of a semicircle is 35 cm, then

find its arc length. (A) 55 cm
 (B) 110cm
 ( C) 90

cm
(D) 70 cm

A. (A) 110 cm

B. (B) 55cm

C. ( C) 90 cm

D. (D) 70 cm

https://dl.doubtnut.com/l/_hYFr8KcL3LM2
https://dl.doubtnut.com/l/_BoRAv7LDvCmZ


Answer:

Watch Video Solution

65. Q.1. (A) Choose the correct alternative

answer for the following: (1) If r = 7 cm and

. Length of arc is…..(A) 44 cm
 (B) 22

cm
( C) 10 cm
(D) 18 cm

A. (A) 44 cm

B. (B) 22 cm

C. (C ) 10 cm

θ = 180∘

https://dl.doubtnut.com/l/_BoRAv7LDvCmZ
https://dl.doubtnut.com/l/_hbf7apUSK5mS


D. (D) 18cm

Answer:

Watch Video Solution

66. If r =7 cm and  = , then area of sector

is……

A. (A) 15.4 

B. (B) 20.36 

C. ( C) 10.46 

θ 36∘

cm2

cm2

CM 2

https://dl.doubtnut.com/l/_hbf7apUSK5mS
https://dl.doubtnut.com/l/_tyx7BbpmRE8H


D. (D) 18.2 

Answer:

Watch Video Solution

cm2

67. Bricks of dimensions 

are used to build a wall of dimensions

. How many bricks are

used?

A. (A) 1280

15cm × 8cm × 5cm

120cm × 16cm × 200cm

https://dl.doubtnut.com/l/_tyx7BbpmRE8H
https://dl.doubtnut.com/l/_mSrPkNbFXogP


B. (B) 640

C. ( C) 160cm

D. (D) 320

Answer:

Watch Video Solution

68. If the volume of cylinder is 12436  and

radius and height of cylinder are in the ratio 2:

3, find its height. (A) 21 cm
(B) 7 cm
(C ) 14 cm

(D) 18 cm

cm3

https://dl.doubtnut.com/l/_mSrPkNbFXogP
https://dl.doubtnut.com/l/_eGVLXqr6cpWh


A. (A) 21 cm

B. (B) 7 cm

C. (C ) 14 cm

D. (D) 18 cm

Answer:

Watch Video Solution

69. Find the volume of a right circular cone if r

= 14 cm and h = 9 cm.

https://dl.doubtnut.com/l/_eGVLXqr6cpWh
https://dl.doubtnut.com/l/_1rb2mvo3tCxh


A. (A) 161 

B. (B) 2438 

C. ( C) 1848 

D. (D) 1488 

Answer:

Watch Video Solution

cm3

cm3

cm3

cm3

70. The volume of two spheres are in the

ration 8:27, find the ratio of their radii. (A) 2:3

(B) 2:9
( C) 1:3
(D) 4:9

https://dl.doubtnut.com/l/_1rb2mvo3tCxh
https://dl.doubtnut.com/l/_IsMN7Ld01H9j


A. (A) 2:3

B. (B) 2:9

C. ( C) 1:3

D. (D) 4:9

Answer:

Watch Video Solution

71. Two cubes each with 12 cm edge, are joined

end to end. Find the surface area of the

resulting cuboid.

https://dl.doubtnut.com/l/_IsMN7Ld01H9j
https://dl.doubtnut.com/l/_r8G2KwNT9thZ


Watch Video Solution

72. A solid cube with edge 'I' was divided

exactly into two equal halves. Find the ratio of

the total surface area of the given cube and

that of the cuboid formed.

Watch Video Solution

73. A beam 4 m long, 50 cm wide and 20 cm

deep is made of wood, which weighs 25 kg per

https://dl.doubtnut.com/l/_r8G2KwNT9thZ
https://dl.doubtnut.com/l/_4XL7MWmh0uj4
https://dl.doubtnut.com/l/_28CAfq6IYcrH


. Find the weight of the beam.

A. (A) 10

B. (B) 15

C. (C) 20

D. (D) 25

Answer: (A) 10

Watch Video Solution

m3

https://dl.doubtnut.com/l/_28CAfq6IYcrH


74. A fish tank is in the form of a cuboid,

external measures of that cuboid are

. The base, side faces

and back face are to be covered with a

coloured paper. Find the area of the paper

needed.

Watch Video Solution

80cm × 40cm × 30cm

75. The base radii of two right circular cones of

the same height are in the ratio 2: 3. Find ratio

https://dl.doubtnut.com/l/_im4qJzurGOQz
https://dl.doubtnut.com/l/_NdmkUb2SjAs4


their volumes.

Watch Video Solution

76. If the radius of a sphere is doubled, what

will be the ratio of its surface area and volume

as to that of the first?

Watch Video Solution

77. The dimensions of a metallic cuboid are 44

cm  42 cm  21cm. It is molten and× ×

https://dl.doubtnut.com/l/_NdmkUb2SjAs4
https://dl.doubtnut.com/l/_kKpqHnv7irCY
https://dl.doubtnut.com/l/_fTbDQwRSETZa


reacast into a sphere. Find the surface area of

the sphere.

Watch Video Solution

78. If the radii of the conical frustum bucket

are 14 cm and 7 cm. If its height is 30 cm, then

find (i) Its total surface area

Watch Video Solution

https://dl.doubtnut.com/l/_fTbDQwRSETZa
https://dl.doubtnut.com/l/_R2u2tYljm4E3


79. If the radii of the conical frustum bucket

are 14 cm and 7 cm, If its height is 30 cm, then

find (ii) capacity of the bucket.

Watch Video Solution

80. The slant height of the frustum of the cone

is 6.3 cm and the perimeters of its circular

bases are 18 cm and 6 cm respectively. Find

curved surface area of the frustum.

Watch Video Solution

https://dl.doubtnut.com/l/_vVJqYl6boR68
https://dl.doubtnut.com/l/_E2ucvwCd4PSB


81. The radii of the circular ends of a frustum

of a cone are 14 cm and 8 cm. If the height of

the frustum is 8 cm. Find (i) Curved surface

area of the frustum

Watch Video Solution

82. The radii of the circular ends of a frustum

of a cone are 14 cm and 8 cm, if the height of

the frustum is 8 cm. Find (ii) Total surface area

of the frustum

https://dl.doubtnut.com/l/_E2ucvwCd4PSB
https://dl.doubtnut.com/l/_oILMrsNgsqQl
https://dl.doubtnut.com/l/_9RXY44da1AXp


Watch Video Solution

83. The radii of the circular ends of a frustum

of a cone are 14 cm and 8 cm, if the height of

the frutum is 8 cm. Find (iii) Volume of the

frustum.

Watch Video Solution

84. The curved surface area of the frustum of a

cone is 180 sq cm and the circumference of its

https://dl.doubtnut.com/l/_9RXY44da1AXp
https://dl.doubtnut.com/l/_lgwdnsVpLVii
https://dl.doubtnut.com/l/_JVmPyRNnIjIw


circular bases are 18 cm and 6 cm respectively.

Find the slant height of the frustum of a cone.

Watch Video Solution

85. A sector of a circle with radius 10 cm has

central angle . Find the area of the sector 

Watch Video Solution

72∘

(π = 3.14)

https://dl.doubtnut.com/l/_JVmPyRNnIjIw
https://dl.doubtnut.com/l/_xF7hyFFZ5d0s


86. If the area of a sector is th of the area

of the circle, then what is the measure of the

corresponding central angle.

Watch Video Solution

1

12

87. In a clock, the minute hand is of length 14

cm. Find the area covered by the minute hand

in 5 minutes.

Watch Video Solution

https://dl.doubtnut.com/l/_cmR55zJK5RJ1
https://dl.doubtnut.com/l/_loj9UWD0Lomo
https://dl.doubtnut.com/l/_2BoxsMg88wKe


88. The radius of the circle is 3.5 cm and the

area of sector is 3.85 sq cm. Find the measure

of the arc of the circle.

Watch Video Solution

89. Find the area of the sector of a circle of

radius 6 cm and arc with length 15 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_2BoxsMg88wKe
https://dl.doubtnut.com/l/_X0cMwtsMOgHv


90. Find the length of the arc of the circle of

diameter 8.4 cm with area of the sector 18.48

. Also find measure of the arc.

Watch Video Solution

cm2

91. Find the area of minor segment of a circle

of radius 6 cm when its chord subtends an

angle of  at its centre. ( )

Watch Video Solution

60∘ √3 = 1.73

https://dl.doubtnut.com/l/_HS7tuhZki6OB
https://dl.doubtnut.com/l/_oZXQF3LjBYUu
https://dl.doubtnut.com/l/_tjwAq1gjx8gR


92. Area of segment PRQ is 114 sq cm. Chord

PQ subtends centre angle  measuring 

. Find the radius of the circle. 

Watch Video Solution

∠POQ

90∘ (π = 3.14)

93. In the adjoining figure, arc BXC and arc BYC

are drawn with radius 8 cm and centres as

point A and D respectively. Find the area of

shaded region if ABCD is a square with side□

https://dl.doubtnut.com/l/_tjwAq1gjx8gR
https://dl.doubtnut.com/l/_XGOirirTXa5Y


8 cm. 

Watch Video Solution

94. In the adjoining figure, P is the centre of

the circle with radius 18 cm. If the area of the

https://dl.doubtnut.com/l/_XGOirirTXa5Y
https://dl.doubtnut.com/l/_ba2BVeeQNTXM


 is 100 , find the central . 

Watch Video Solution

△ PQR cm2 ∠QPR

95. Q.1. (A) Choose the correct alternative

answer for the following: (1) If r = 7 cm and

https://dl.doubtnut.com/l/_ba2BVeeQNTXM
https://dl.doubtnut.com/l/_gJ8SKRRly9Ws


. Length of arc is…..(A) 44 cm
 (B) 22

cm
( C) 10 cm
(D) 18 cm

A. (A) 44 cm

B. (B) 22 cm

C. ( C) 10 cm

D. (D) 18 cm

Answer:

Watch Video Solution

θ = 180∘

https://dl.doubtnut.com/l/_gJ8SKRRly9Ws


96. The volume of two spheres are in the

ration 8:27, find the ratio of their radii. (A) 2:3

(B) 2:9
( C) 1:3
(D) 4:9

A. (A) 2:3

B. (B) 2:9

C. ( C) 1:3

D. (D) 4:9

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_NKwy7YnacjDP


97. Attempt the following : (1) Find the area of

a circle with radius 7 cm.

Watch Video Solution

98. Length of arc of a circle, with radius 5 cm, is

10 cm. Find the area of corresponding sector.

Watch Video Solution

https://dl.doubtnut.com/l/_ANK6NWEGzkhe
https://dl.doubtnut.com/l/_1srBWsJIHmcI


99. Find the volume of the shpere of diameter

6 cm. 

Watch Video Solution

(π = 3.14)

100. If the radius of a sphere is doubled, what

will be the ratio of its surface area and volume

as to that of the first?

Watch Video Solution

https://dl.doubtnut.com/l/_Sa9hGk7mDIiy
https://dl.doubtnut.com/l/_qTAY5tlweXA1


101. Q.3. Attempt any two of the following: (1)

The radius of a circle with centre P is 10 cm. If

chord AB of the circle substends a righ areas

of minor segment and the major segment

Watch Video Solution

(π = 3.14)

102. The diameter and length of a roller is 120

cm and 84 cm respectively. To level the ground,

200 rotations of the roller are required. Find

https://dl.doubtnut.com/l/_B8oH4voMV1x9
https://dl.doubtnut.com/l/_amgbNydW1oML


the expenditure to level the ground at the

rate of ~ 10 per sq. m.

Watch Video Solution

103. In the adjoining figure,  os a

square with side 7 cm. With centre D and

radius DA, sector D -AXC is drawn. Find the

□ ABCD

https://dl.doubtnut.com/l/_amgbNydW1oML
https://dl.doubtnut.com/l/_epBiC9ZDSyBn


area of shaded portion. 

Watch Video Solution

https://dl.doubtnut.com/l/_epBiC9ZDSyBn


104. Q.4. Attempt any two of the following: (1)

A regular hexagon is inscribed in a circle of

radius 14 cm. Find the area of the region

between the circle and the hexagon.

Watch Video Solution

105. The radius of a metallic sphere is 9 cm. It

was melted to make a wire of diameter 4 mm.

Find the length of the wire.

Watch Video Solution

https://dl.doubtnut.com/l/_ljrmVPubqmdn
https://dl.doubtnut.com/l/_wy381XlaJiq4


106. The radius and height of cylindrical water

reservoir is 2.8 m and 3.5 m respectively. How

much maximum water can the tank hold? A

person needs 70 liters ofr water per day. For

how many persons is the water sufficient for a

day? .

Watch Video Solution

(π = . )
22

7

107. A tin maker converts a cubical metallic box

into 10 cylindrical tins. Side of the cube is 50

https://dl.doubtnut.com/l/_wy381XlaJiq4
https://dl.doubtnut.com/l/_A2FXtKq0qT92
https://dl.doubtnut.com/l/_3Xeh1tNVTZVb


cm and radius of the cylinder is 7 cm. Find the

height of each cylinder so made if the wastage

incurred was 12%. 

Watch Video Solution

(π = )
22

7

108. The three faces, A, B, C having a common

vertex of a cuboid have areas 450 , 600 

 and 300  respectively. Find the

volume of the cuboid.

Watch Video Solution

cm2

cm2 cm2

https://dl.doubtnut.com/l/_3Xeh1tNVTZVb
https://dl.doubtnut.com/l/_1Yr6i184OGP5
https://dl.doubtnut.com/l/_XN9LzOqoQe40


109. Oil tins of cuboidal shape are made from a

metallic sheet with length 8 m and breadth 4

m. Each tin has dimensions  in

cm and is open from the top. Find the number

of such tins that can be made?

Watch Video Solution

60 × 40 × 20

110. Plastic drum of cylindrical shape is made

by melting shperical solid plastic balls of

radius 1 cm. Find the number of balls required

https://dl.doubtnut.com/l/_XN9LzOqoQe40
https://dl.doubtnut.com/l/_fmiAdVJZAOO4


to make a drum of thickness 2 cm, height 90

cm and outer radius 30 cm.

Watch Video Solution

111. Water drips from a tap at the rate of 4

drops in every 3 seconds. Volume of one drop

of 0.4 , If dripped water is collected in a

cylinder vessel of height 7 cm and diameter is

8 cm. In what times vessel be completely filled?

What is the bolume of water collected? How

cm3

https://dl.doubtnut.com/l/_fmiAdVJZAOO4
https://dl.doubtnut.com/l/_8WEuuc8rQY3t


many such vessels will be completely filled in 3

hours in 40 minutes?

Watch Video Solution

112. A cone and a hemisphere have equal bases

and equal volumes. Find the ratio of their

heights.

Watch Video Solution

https://dl.doubtnut.com/l/_8WEuuc8rQY3t
https://dl.doubtnut.com/l/_IzzlyTbYuIxI


113. A shpere and a cube have the same

surface area. Show that the ratio of the

volume of the sphere to that of cube is

.

Watch Video Solution

√6: √π

114. ₹ 5 coins were made by melting a soild

cuboidal block of metal with dimensions

 in cm. How many coins of16 × 11 × 10

https://dl.doubtnut.com/l/_UV7eH4k29fIZ
https://dl.doubtnut.com/l/_jqDjewXIJ3ic


thickness 2 mm and diameter 2 cm can be

made. 

Watch Video Solution

(π = )
22

7

115. If the radius of a shpere is doubled, what

will be the ratio of its surface area and volume

as to that of the first shpere?

Watch Video Solution

https://dl.doubtnut.com/l/_jqDjewXIJ3ic
https://dl.doubtnut.com/l/_jgrigjKPrSZM

